Kak®¢ Aéyelg: how did ancient grammarians argue? J. H. Gray Seminar, 10 March 2021

P. Probert

(1) Commentaries on (Ps.)-Dionysius Thrax, Grammatici Graeci |.iii.37.10-38.14 (29):

(a) Herodian and Apollonius investigated which of E and O was shorter:

Kal émi toUuTwv &€, TV Bpaxéwv dnpi, 6 te Hpwdlavog 6 Texvikog katl 6 TouTtou
natnp AnoAAwvLog Elitnoay, Tl Tivog €o0Tl Bpayutepov.

(b) Apollonius’ argument that O is shorter:

kal 6 uév AoAAWVLAC dnot to O gival BpaxUtepov Tod E, anodeifel Tolavtn
XPWHUEVOG: AEyEL yap OTLTO | Ekatépw alTV TPoobelg o oelg dnAovott duo
S1dBdyyouc, kal 1 pév éott peilwv N to E Exovoa, N 6& éAdcowv ) to O €xouoa,
WC Elvat alTAV Bpaxelow Kal &v TOTE TOVOLS, WG €V TX “Opnpot Npilapot Kat £v Tolg
opololg.

(c) Herodian’s argument against Apollonius:

0 6& Hpwdavog o E pdAov Aéyel elvat BpoxUTepov, AmoSelkvic oUTwG: dpnot
Yap mpO¢ TOV matépa, ATl ou Sl T mapabéosl tol | £€etalely ékeivwv TV
SUvapLy, AAAA kat’ dilav dveu Tvog mapabéoew Kal paAlota tig tod |- Tolto
YAp CUYYEVELAV Tva EXEL TIPOC TO E- kail Seikvuoy €k Tol v ékdwvnotv tol |
glvat dvopa Tod E ypapUaTOC: TG) OUYYEVET OOV TPOOTEDEV HeyEANY TVA Kol
Suvapkwtatnv idpBoyyov dnetéAecev’ T 5& O PooeNBOV, B oUK EXEL
ouyyévelay, oUk évebeifato 6Anv TV £autol SuvapLy. wg kai Eml mapadelyuatog
avBpwrneiov, tva kal pdAAov cadp®g alTo voRowey, €l TIg adeAdov autod
Bedoatto xpelav €xovra Bonbeiag, 6An T Yuxii Umepaomilel aUTOV Kal
OUMTPATTEL KOl UTteppaXel AAN oOv oUx OAn tii Wuxfi Unép €vou tolito moufoet,
&€ 00 Kol ASpaveoTEpa N TOV AUDOTEPWY SUVOULS TIPS TOUC &€ vavtioag Mdon:
oUtw kat éni tol | vonoov, 6TL oy Opoiwg énedelato trv €autol SUvauLy £mi
100 O, w¢ £mi tol E tol ouyyevoic.

(d) Herodian’s argument for the opposite conclusion:

514 ToloUTwV Adywv 6 Hpwdlavog avatpédag tnv 1ol matpog dofav énidépel
TolaUTnV Stkaohoyiav, St N¢ Seikvuol TO E BpaxUtepov 100 O EAeyxopevov UId
TG KAloewg TV dvopdtwy. dnot 8¢ dAnBEotartov kavova Tololitov, OTL Tdoa
KANTIKN TA G 1dlag evBeiag f lon €otiv R éAdoowv, peilwv 6& obdEMoTE' f yap
duAdooel T0 Tii¢ TeAeuTalag cuAAaBiic pwviiev, kal SijAov 6Tl lon £otiv, wg £t
100 6 Zevod®dV & Zevodp®v, 1 KaAR W KoAR, TO tatdiov & mawdiov, fj £av pév
Tpénn, oUte €ic loov oUte eig pueilov Tpenel alTo, AAA avtwg eic EAattov, 0

And on the subject of these vowels—I mean the short ones—the grammarian
Herodian and his father Apollonios investigated which was shorter than which.

And Apollonius says that the O is shorter than the E, with the following sort of
demonstration: for he says that if you add an | to each of these you’ll make two
diphthongs, of which the one containing an E is longer and the one with an O
shorter, so that the latter is also short for the accent, as in “Ounpo, Mpiauot, and
such words.

But Herodian says that the E is shorter, and he demonstrates it as follows: he
says to his father that one shouldn’t calculate the value of the vowels with the
addition of an | but independently, without any addition and certainly without
that of an I. For this vowel has a certain relationship with E. And he shows this on
the basis that the pronunciation of | is the name of E. Because being added to its
relative, it produced a big and very powerful diphthong. But on coming together
with O, with which it does not have any relationship, it did not display its entire
power. Just as in human experience too (so that we can understand it more
clearly), if someone were to see his brother in need of help, he defends him with
all his might and joins with him and fights on his behalf. But he will not do this
with all his might on behalf of a stranger, as a result of which the power of them
both towards those on the other side was seen to be weaker. So too in the case
of I, understand that it did not display its power in connection with O in the same
way as it did in connection with its relative E.

Having overtuned his father’s view by means of such words, Herodian brings
forward the following kind of pleading, by which he shows that E is proved
shorter than O by the declension of nouns. And he gives a very precise rule of the
following sort: every vocative is as long as its own nominative or shorter, but
never longer. Either the vocative keeps the vowel of the last syllable (of the
nominative), and then it’s clear that the form is equally long, as in ZevodQv
(nominative), Zevod@v (vocative); kaAn (nominative), kaAn (vocative); mawdiov
(nominative), maidiov (vocative), or, if the vocative changes the vowel, it doesn’t

1



'Op£otng W Opéota (1O o Tol n PpaxuTEPOV), O Meuvwv ® Mépvov (€mt pév thig
€UBelag 10 w, £mi 6 Tig K}\nru(r]c 10 0), 0 ANOAWV ®"AmoANov, 0 AploToddavng W
ApLotddavec” £mi Tod "OpUnpog ovV Kal £mt Mavtwy TAOV ei¢ OF i £puldato T O
N KANTWKA, i Qv TPEMN alTo, MOTIEP 0LV KAl TPETEL, TMAVTWC (¢ TL BpaxUTepov
100 O Tpémet alTO" £MeLdN) olV ig E Tpémet alTo, SfAov 6TL 1o E Bpaxitepdv €0t
100 O, 0lov 6"OpUNPOS M “OpnpE.

(1B) Commentaries on (Ps.)-Dionysius Thrax, Grammatici Graeci 1.iii.498.3-35 (Z'):

(a) Herodian and Apollonius investigated which of E and O was shorter:
£mi 6& TouTwV HpwbLavdg kal O pév TouTtou matnp AnoAAwviog Elitnoay, T tivog
Bpaxutepov
(b) Apollonius’ argument that O is shorter:

Kol 0 PEV ATOAAWVLOC PNoLTO O Aéyel yap OTLTO | EKATEPW AUTHOV MPOCOElg
nolnoetg dUo S1hBdyyouc: kal f pév €ott pellwv N 1o E €xouoa, 1 6€ éAaocowv n
10 O £Y0U0oa, WG ElvaL AVTAV Kal Bpayelav év Tolg TdvoLg, olov OunpoL.

(c) Herodian’s argument against Apollonius:

0 8¢ HpwdLavog paAlov Aéyel T0 E Bpayutepov' dnot yap OtL ol Sel T
napaBoel Tol | €€eTalelv ékelvwy TNV SUVAULY, AAAA KaT’ 6lav Aveu Tvog
napab£osw Kal paAtota TG tol I Tolito yap ouyyévelav £xel mpodg To E* kal
SeikvuoLy €k ToD TV ékpwvnotv Tod | elval dvopa Tod E ypappatoc” T cuyyevel
o0V TtpooTedEv peydAny thy SidBoyyov dmetélecey, T6) 6¢ O pooeABOV TO |, B
oUK €XEL oUYYEVELQY, OUK €vedeifato OAnv TtV €autol SUvauL: wg €Ml
napadeiyparog avbpwrneiou, £l Tic ddeAdpov Eautol Bedoatto xpeiav £xovta
BonBelag, 6An Yuxij unepaomilel altol, el 6¢ E£vov, el Kal cupPaXEeT, GAN oy
OAw T® Aoylop®’ oltwe Kal £mi tol | vonoov, OtL oy Opolwg énedeifato thv
£autod Suvapy <£mi tod 0>, e énti tod E tol ouyyevolc.

(d) Herodian’s argument for the opposite conclusion:

SLd ToloUTwy Aoywv 6 Hpwdlavog anootpeag tnv tod natpog S6&av
£rudépel toaltnv Sikaoloyiav, Selkvug To E Bpayltepov: Aéyel 6£ tololtov
Kavova, OtL oo KANTIKN TOV (oov xpovov BEAeL Exelv TiG 16lag evBeiag i

change it into an equally long or longer one, but in every case into a shorter one,
as in'Opéotng (hominative), Opéota (vocative)—the A is shorter than the H—;
Méuvwv (nominative), Méuvov (vocative)—the nominative has an Q and the
vocative an O—; AntoAAwv (nominative), ArtoAAov (vocative); Aplotodpavng
(nominative), Aplotodaveg (vocative). In the case of ‘Ounpocg, then, and all words
ending in -OZ the vocative has either kept the O or, if it changes it—which it does
here—, it in every case changes it into something shorter than an O. So given that
it changes an O into an E here, it’s clear that E is shorter than O, as in“Ounpog
(nominative), "Ounpe (vocative).

And on the subject of these vowels Herodian and his father Apollonios
investigated which was shorter than which.

And Apollonius says the O (is shorter). For he says that if you add an | to each
of them you’ll make two diphthongs, of which the one containing an E is longer
and the one with an O shorter, so that the latter is also short for the accent, as in

“‘Ounpot.

But Herodian rather says that the E is shorter. For he says that one must not
calculate the value of the vowels with the addition of an | but independently,
without any addition and certainly without that of an I. For this vowel has a
relationship with E. And he shows this on the basis that the pronunciation of | is
the name of the letter E. Being added to its relative, then, it produced a big
diphthong. But on coming together with O, the | (to which it does not have any
relationship) did not display its entire power. Just as in human experience, if
someone were to see his brother in need of help, he defends him with all his
might, but if a stranger, even if he fights with him, he does not do so with all his
power of reasoning. So too in the case of |, understand that it did not display its
power <in connection with O> in the same way as it did in connection with its
relative E.

Having rejected his father’s view by means of such words, Herodian brings
forward the following kind of pleading, showing that E is shorter. And he gives a
rule of the following sort: that every vocative likes to have the same quantity as
its own nominative or a shorter one, but never a longer one. And in the case of a
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£€\attova, oubénote &€ peilova Emi 6¢ Tig el O tpénel alTo €ig E. mote
looxpovel Tfj eUBeiqa N KANTIKA, Kal toTe oU; fvika 1) eUOela o0 peTaBAAAEL TO
dwvijev avThc, looxpovel Th KANTKN, Avika 6& petaBalAel, EAAtTova xpovov
<ExeL 1) KANTIKA>. €mel 00V eVPIoKETAL ETTL TMV €1¢ OF TPEMOUEVOV TO TEAKOV THC
eVBelag eic E, Bpayxutepov éotiL ol O To E.
(e) An additional argument for the same conclusion (not attributed to anyone
in particular):

AAAQ Kal €k SLlaAEkTwy- 1 yap AloAlg Stahektog Sumhacialovoa Td cUpdwva
TA pokeipeva dwvnevta cuoTENAeL eic Hooova: TO evOnoeLg mevBEo<o>elG
dnoiv- €l 00V 10 TocoUToV Aéyel TeEo<0>00TOV, SiiAov BTL WG €K Peilovog ig
£\attova cuoToAnV moLeltat. AAAA Kal ail évikal yevikal peilova téAn éxouot TV
TANBUVTIKWV VBELDV, olov Podiou PoSLot, ABivng Aibwat- imep olv é€elé€ato
N KEV EVIKN YeVIKN TO O, | 6& mAnBuvTtikr eUOela T E, wg €v T Alavtog Alavteg,
SifAov wg EAattov Kal <pdAAov> cuveoTtalpevoy €oTl 10 E tol O.

(1y) Commentaries on (Ps.)-Dionysius Thrax, Grammatici Graeci 1.iii.199.15-34 (2"):

(a) Apollonius argues that O is shorter than E:

TaALY Tiv §Uo Bpaxewv Bpaxltepov pev katd ArtoAAwviov T0 O dnotl yap OtL 10
E kal 1o O, el mpooBnoslg [€v] Ekatépw auT®V TO |, motoslg dnAovott Svo
S1bBAyyoug, Kal N PV €0TL paKpoTEpa I TO E Exouoa” v TéAeL yap Aé€ewg
guplokopévn 1 Ol 8LpBoyyog dinvek®g cuotéNAetay, 1) 6¢€ El o06EmoTte.

(b) Herodian objects to Apollonius’ argument:

Tpog 6v dnotv Hpwdlavog, otL [womep] o0 Set Tfj mapabeoel Tol | v tol E
kat O duvapy é€etalecBal, AM 16iq Ekaotov alTv.
(c) Apollonius invites Herodian to lay out why:

6 6& ATOAWVLOC TPOC AVTOV' K TEKVOV, TiVL Adyw;
(d) Herodian’s argument against Apollonius (continued):

kal ¢nowv otL mav otolyelov ad’ Eautol Gpxetal, 10 6& | 00K A’ £autol GANA
100 E, Wote ouyyeveg alT@® €Tl TO 6£ ouyyeveg TO (6lov mpoohaupavoy,
peyoAkwTatny TV SidpBoyyov dmotelel, mpog 0 6€ oUK £XeL GUYYEVELAV
npocAappavov, o O ouy oltwg £mBonOeital, Wote peydAnv AmoteA£éoal
SidBoyyov. d1a tolito oL ¢l ti) mapabeoel 1ol | tadta é€stdlecOal.

nominative in -OZ it turns it into E. When does the vocative have the same
quantity as the nominative, and when not? The nominative has the same
quantity as the vocative when it does not change its vowel; and when it changes
it, <the vocative> has a shorter quantity. Since, then, in the case of words in O
the last vowel of the nominative is found being turned into E, E is shorter than O.

But (one can see that an E is shorter than an O) on the basis of the dialects as
well. When the Aeolic dialect doubles consonants it makes the preceding vowels
shorter: for Aeolic says nevBéo<o>elg for mevBrnoelc. And so given that it says
teo<c>o00tov for tocoltov, it’s clear that the dialect effects a shortening, as from
something longer to something shorter. Moreover, genitive singulars have longer
terminations than nominative plurals, as in Podiou PoStot, ABivng AiBwvat. So
given that the genitive singular has decided to have an O and the nominative
plural an E, as in Alavtog Alavteg, it’s clear that E is shorter and more
<shortened> than O.

And then of the two short vowels, the shorter according to Apollonius is O. For
he says that when it comes to E and O, if you add | to each of them you'll
obviously make two diphthongs, and the one with an E is the longer. For when
it’s found at the end of a word, the diphthong Ol is invariably treated as short,
but the El never.

To him Herodian says that one must not investigate the power of E and O
through the addition of I, but (one must investigate) each of them by itself.

And Apollonius says to him: ‘Oh child, on what basis?’

And he (Herodian) says that every letter begins with itself (i.e. the letter-name
begins with its own sound value), but | does not begin with itself but with E, so
that it is related to it. And that which is related, on taking in its own, produces a
really big diphthong. But on taking in that to which it has no relationship, the O is
not helped in such a way that it produces a big diphthong. For this reason, one
must not investigate these things through the addition of I.



(e) Herodian’s argument for the opposite conclusion:

Kal Aounov dnodeikvuoly Hpwdlavog 1o E Bpaxltepov oUTtwol, Aéywv OtL
maoo KANTIKN R TOV loov xpovov B€AeL £xelv tii¢ iblag e0Belag fj EAattova.
oub£mnote 6¢ peilovar émel 8¢ sUpioketal TO <O> tfig eUOsiag TEAKOV PwVREV, WG
€v T KUPLOG, TPEMOpEVOV €Tl TG KANTWKIG €i¢ E, BpaxUtepov dpa éoti 10 E tol
0.

(f) Afterthought (which clarifies Herodian’s argument):

Kal mote looxpovel 1 KANTIKA Tfj eUBelq, kal oTe PpayUTepov EXEL XpOVOV;
AVIKA PEV 1) KANTLKA 00 peTaBAAAEL TO dwvijev TG eUBelag, iooxpovel auTi,
Avika 6& petafarlel, EAattova EXEL XpOVOV.

And finally Herodian demonstrates that E is shorter as follows: by saying that
every vocative likes to have either the same quantity (of vowel) as its own
nominative or a shorter one, but never a longer one. And since the O that is the
last vowel of a nominative, as in kUpLog, is found to be turned into an E in the
vocative, E is therefore shorter than O.

And when does the vocative have the same quantity as the nominative and
when does it have a shorter quantity? When the vocative does not change the
vowel of the nominative it has the same quantity as it; and when it changes it, it
has a shorter quantity.

(2) Choeroboscus’ commentary on Theodosius’ Kavoveg, Grammatici Graeci IV.ii.149.34-151.25:

(a) A general rule—verbs with a recessive accent in the present have the same
number of syllables in the future, unless they have a single A:

iotéov 6€ OTL Amd pév Baputovwy Bepdtwy IooocUANOPET 6 HEAA WY TR EVEOTWTL,
otov TUTITw TUPw—T0 yap map’ Aplotoddvel TUTTHow &v MAoUTw (‘00 yap pe
TUTITAOELG otédavov €xovta ye’ (Ar. Plut. 21)) wg Ao MePLOMWUEVWY E0TIV—
Aéyw Aé€w, MAEkw MAEEW, ypadw ypaPw, meibw meiow, dkolw akoUow, Badilw
Badiow, keipw kep®, pBeipw HBep®, Hiaivw plavd. Sl mpoobelval “Ywplg TV
£xovtwy &v A’ £l ToUTwV yap KLl cUAaB Ttepittelel 0 HEAAWYV TOD €veoTTOC,
olov BéAw Behrow, PEAW PEAROW, WG TO ‘peAfooucty 8¢ pot inmol’ (11.5.228; 1.
10.481), 6deilw ddpe\fow

(b) And verbs with a circumflex on the final syllable of the present have a
syllable more in the future (and so do those with one A, even without having a
circumflex):

&mo 6¢ meplomMwUEVWY Ul cUMOBH TieptTteVeL O PEMWY TOU EVESTHTOC, OlOV
oL moLow, vo® vonow, YeA® yeAdow, Tep® TEPACW, oTEPOVR oTEDAVWOW,
yul® yupwow. kal £ni touTtwy 8€ €av AApn Tig TAV EVIEAELOY, EVPLOKEL TOV
HéNovTa i6ocUAOBOV TG) EVECSTMTL, OLOV TTOLEW TIOL0W, Bodw Borow, XPUCOW
XPUOWOW" AAAA AoLmov O £VeOTWE ouvalpoUpevVog EvBelav taoyel cUAAABFC,
0lOV TIOLEW TIOLR, Bodw PO, XpPUGOW XPUGK, KAl TOUTOU XAPLV EUPLoKETAL O
HEANWV Pl cuMaBi) mepittebwy tol éveot®ToC Opolwg 6£ Kal &Ml TV €xOviwy
10 &v A, ¢ elpnTat (18N, ud cuAaBH meptttetel 6 HEANWY TOD EVESTRITOC, OloV
BéAw BeAnow, odeiw odeAnow.

And one should know that from recessively accented base forms, the future has
the same number of syllables as the present, as in TUntw TP w (for the form
TuUTTtiow in Aristophanes’ Plutus—oU yap pe TUTITAOELG otédavov EXovid ye—is
like those from perispomenon base forms), Aéyw Aé€w, MAEkwW MAEEW, ypadw
vpadw, neibw neiow, dkolLw dkoVow, Badilw Badiow, kelpw kep®, PpBeipw
$Bep®, paivw pavd. One must add ‘apart from those with one A, for in these
the future has one syllable more than the present, as in 8éAw BeAnow, LéAw
pHeAnow (peAnooucty 6€ pot innot), ddpeilw ddpelnow.

But from perispomenon base forms, the future is one syllable longer than the
present, as in oL@ motjow, vo® vorow, yeAD yehdow, ep® mepdow, otepavi
otedpavwow, yup® yupwow. But even in the case of these verbs, if someone
takes the full form he will find the future equal in number of syllables to the
present, as in MoLéw Tolow, fodw PBornow, xpuodw Xpuowow. But then the
present gets contracted and undergoes the loss of a syllable, as in moléw mow®,
Bodw Bo®, xpuoodw xpuo®, and for this reason the future is found to have a
syllable more than the present. And likewise in the case of verbs with one A too,
as has already been said, the future is a syllable longer than the present, as in
BéAw BeAnow, odeihw odeAnow.
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(c) A question—why do verbs with one A have a syllable more in the future?

Kal a&lov éott Intijoal, Statl ta 8U Evog A €kdepdpeva meptttocUAAABOUC
gxouoL ToUC uéAovTac, olov B¢Aw BeAiow, HéAw (TO €v dpovTidt eipl) peAow,
odsilw odenow’ Epddopev yap <OtL> and Baputovwy Bepdtwy UTTAPXWY O
HEMWV io0GUAABET TG) EveoT®TL, olov TUTTW TUPW, Aéyw Aéfw.

(d) Apollonius’ solution:

Kal AéyeL 0 AmoA\wvLog TalTnv TRV aitiav, 0Tl ToAAG elol prpata Kal wg ano
BaPUTOVWY Kal <WE> GO MEPLOTIWHIEVWY TIoLOTVTA THV KALOLY, 0lov TUTTW TOPw
Kal TUTTTG) TUTTTAOW, OLOV ‘OU VAP HE TUTITHOELS oTédavov Exovtd ve’ (Ar. Plut. 21)
dnoiv Aplotoddvng v MAoltw, eldw elow, €€ oL kal T ‘eloopat i ke W 6
TuSeidng kpatepdc Atopndng (/.8.532), kal 186 eidrow, £€ ol TO ‘idnoeLg 8¢
kal autog (Od. 7.327), pintw Epputtov Kal putt® €pplmtouv, we mapd T moLNTi
‘Gveppimrouy’ (Od. 13.78), KUw EKuov Kol Ku® €kvouv, olov ‘A & ékVeL dilov
uidV’ (/1. 19.117), ypdodw ypddhw kal ypads ypadrow, £€ ol 6 yeypadnka
TIOPAKELHEVOC 0UTWC 0VV Kal T Exovta &v A Ewg PEV ToD apaTATIKOD WG ATd
Baputdvwy motodvrat Thv KAiow, <olov BéAw €Belov, péAw Epehov, ddeilw
Woelhov, LETA 6£ TOV MOPATATIKOV £V TOTC €Petiic XpOVoLS WG Ao
TePLOTMWHEVWVY Ttotovtat TV KALow>, olov BeAG BeArow teBEAnka é0€Anoa,
HUEAD peAnow pepéAnka EpeRnoa, 6PeA® ddelnow wdeilnka woeilnoa,
womnep vo® vornow vevonka évonoa. Talta Pev 0 AoAAWVLOG.

(e) Herodian’s refutation:

0 6& HpwdLavog AvatpEmel auTov AEywy, OTL KaK®DE AEYELS TA yap WG Ao
Baputovwy Kal w¢ Ao meplonwpévwy olodvra TV KALoW &v T@ alT® Xpovw
Kal WG GO TEPLOTWHUEVWVY KAl WG Ad PopuTOVWY Totodivrat TV KALOLY, olov
TUTMTW TUP W <KOL> TUTTTO TUNTTH oW, pltw Epputtov Kal puttd éppimtouy, ldw
elow kal el6® eibrow: ta 8¢ €xovta €v A ol mololvtal Katd TOV aUTOV XpOvov
Kall WG Ao BapuTtovwy BePATWY Kol WG Ao TEPLOTIWHEVWY TNV KAlow: AAN Ewg
pév told maparatikod, we eipntal, <wg> Ao Baputovwy Bepdtwy ololivral Thv
KAlowv, oudémote &€ WG ATIO TMEPLOTIWUEVWV.

And it’s worth asking why those verbs produced with one A have an additional
syllable in their futures, as in 8éAw BeAnow, péAw (‘I am in someone’s thoughts’)
pHeAnow, odpelw odenow. For we've learnt <that> if it is from a recessive base
form the future has the same number of syllables as the present, as in TOnTw
TP w, Aéyw Aéfw.

And Apollonius gives the following reason, that there are many verbs which
make their inflection both as from recessive base forms and as from
perispomenon ones, like TUMTW TOYP W and TunT® TuTTRow (in the way that
Aristophanes says o0 yap e TUNTNOELS oTédavov Exovta ye in the Plutus), eldw
elow (from which comes also eloopat il ke W' 6 Tudeldng kpatepog Aloundng)
and ld® eibriow (whence ibfig € kal awTog), pimtw Eppurtov and PUTT®
£pplmtouyv (as in dveppintouv in the poet), kOw €kuov and Ku® €kVouv (as in fj &’
£€kUEL dpidov ulov), ypadw ypadw and ypadd ypadrnow, whence the perfect
veypadnka. In this way, then, those verbs with one A also inflect as from
recessive base forms up to the imperfect, <as in BéAw £€BgAov, péAw Euglov,
odeilw Gdelhov, but after the imperfect they make their inflection as from
perispomenon base forms in the tenses that follow>, as in 6eA® BeAfow
TeBEANKA €0€AN0A, HEAD HeANOW PEUEANKD EUEANOQA, ODEAD OdENoW
woeilnka wdeidnoa, like vod vonow vevonka évonoa. This then is what
Apollonius says.

But Herodian refutes him, saying, ‘You speak badly! For the verbs which make
their inflection both as from recessive base forms and as from perispomenon
ones do so in both these ways in the same tense, as in TOUTTTwW TUYP W <and> TUITR
TUNITAOW, pirmtw €ppurtov and putt® €ppimtouy, 16w elow and eld® idriow. But
those with one A do not inflect as from recessive base forms and as from
perispomenon ones in the same tense. But up to the imperfect they make their
inflection as from recessive base forms, as has been said, and never as from
perispomenon ones.



(f) Herodian’s contrary solution:

KPETTTOV 00V 0TV €imelv, dnotv, TV drmoloyiav Tavtny- év Toic PUAcL TO &
kal T A nedpUKact SuthactdlecBat, olov MARCoW TWACoW TEAAW TAAW- Kal Td
Hev éxovta U0 22 i SUo AA xaipouaot Tfi Bapeiq TAoEL, olov VUGoW TARGoW
TWVAOOW 6pUooW TIMW TOKIAAW OTEANW 0PANW, XWPLS €l U Exwaolv dvopata
TIPOUTIOKE eV EKETVA YOIP TIEPLOTIMVTOL, 01OV KUKAOG KUKAG), B SLANG) (&€
00 O AUGOpaL), A\Uooa Auao® TO yap vOoow oUK amod Tod viooa €0Tiy, £mel
€lxe MeplomdoOaL, AANA ToUVaVTIOV, VOGO yap AEVETAL O KOUTTTAP TOPA TO
vUooegoBal Toug tpexovtag: Ta 8¢ Exovta v I A v A xaipouaot Tfj meplomiwpévn
TdoEL, olov GUo® Voo Xpuod yeA® AaA® A (onpaivel 88 T© EAalvw) WHENG
TWAG APEN®. TadTta olv T Exovta &v A Kal iy TepLomaoBévTa, Aéyw 81 TO HéAw
Kol BéAw kal odeilw, Avepepioavto TNV KALow, Kal Ewg pev Tol mapatatikold, wg
elpntat, <we> anod Baputovwy KAlvovtal, LETA §& TOV MAPATATIKOV €V TOTG
¢dEeERC XpOVOLS WC ATIO TGV TEPLOTIWHEVWV TIOLOUVTAL TV KALOLY. TOUTOU 00V
XapLv ta 6" €vog A ékdepopeva Exouot TOV EAAovTA ULl cUAAaBT] epLTTeboVTO
100 £VEOTRITOC, 0lov <BEAW BeARow, HEAW HEAAOW, MOTIEP> TIOLK) TTOLoW, VO
vonow. tadta pév v TouToLG.

(3) Commentaries on (Ps.)-Dionysius Thrax, Grammatici Graeci 1.iii.222.4-21 (3"):

(a) Rules for deriving feminine patronymics from masculines in -6ng, according
to Apollonius and associates:

T €i¢ AHZ amofdaAlovta tO AH molel BnAukodv, TavtaAidng TavtaAig, MNALAdNG
MnAwag, Alveladng Aiveldg kal €6l émypadely Alveladog, ouk Aiveldog kal 1o
pEv Xpuonic kat Nnpnic amo tol Xpuong <kal> Nnpel¢, Bac\el¢ BaoAnig kal
€vbeiq To0 H Baolhig to &€ EuEavtidg amod 1ol EvEavtiog, To 6¢€ Evavtidog mapd
KaAApayw (Aetia 67.7) Obeowv €xel ol A. 10 <6&> EAkwvLAG mAgovalel. o0Twg
amnod Thv ei¢ AHZ dpoevik®v oxnUATilouoL TA BNAUKA MATPWVU LKA ol Ttepl
AmoAAWVLOV.

(b) Herodian argues against their derivation:

‘Hpwblav® 6& tolito o Sokel, packovtL un SuvacBat tololtov
TOPACXNHUATIOUOV €ivat Std THY KATAANEW, SLd TOV xpdvov, LA THV YEVESLY' T
YAp TIOPECKNUATIOUEVA APOEVIKOLG ATIO THG YEVIKG Kavoviletal, €k eV <ydp>

‘It’s better, then, to give the following account,” he says. ‘In verbs, Z and A
have a natural inclination to be doubled, as in mMAfjoow, TIvdoow, MAAAwW, TIAAW.
And those verbs with two ¥’s or two A’s like to have a recessive accent, as in
vUoow, MANOOW, TIVACOW, 0pUooW, TIMW, oMW, oTéAA\w, odar\w, unless
they have nouns underlying them—for those verbs are perispomenon, as in
QUL AUAAD (whence apuiAA@pat), Abooa Auoo®. (For vioow is not derived
from vUoaa, since it would have had to be perispomenon, but the other way
around, for the turning point is called viooa from the fact that the runners
vUooovtal “are goaded”.) But those with one 2 or one A like to have
perispomenon accentuation, like duo®, voo®, xpuo®, yeA®, AoA®, EAQD
(meaning éAaUvw “drive”), wpeA®, TwA®, duel®. So those which have one A
and are not perispomenon, | mean péAw, 6éAw, and d¢eilw, have divided up
their inflection, and up to the imperfect they inflect <as> from recessive base
forms, as has been said, but after the imperfect they make their inflection as
from perispomenon base forms in the tenses that follow. For this reason, then,
the verbs produced with one A have their futures a syllable longer than the
present, as in <BéAw BeAnow, LEAw peAnow, like> Mol mowow, vo® vorow.” So
much, then, for these things.

Words in -AHZ make a feminine by removing the -AH-: TavtaAiéng TavtaAlg,
MNALadng MnAwdg, Aiveladng Alveldc. And the (genitive of the) book title should
have been Aivelddog, not Aiveidoc. (And Xpuonic and Nnpnic are derived from
XpUong and Nnpelg, Bao\elg gives rise to Baol\nic, and by deletion of the H
BaotAic. And Ev€avtiac is derived from Ev€avtiog, and EOEavtidocg in Callimachus
has a deletion of the A, and EAwwvLag has an addition.) This is how Apollonius’
circle form feminine patronymics from masculine patronymics in AHZ.

But this does not seem correct to Herodian, who says that this sort of change
of form cannot take place because of the termination, the quantity, and the
origin. For words that are derived by a change of form from masculines have
their formation based on the genitive. For from a form with a long final vowel
6



HAKPOKOTAARKTOU YIVETOL HAKPOKATAANKTOV, olov pidou dikn, ék &&
BPOXUKATAARKTOU OMOIWG <PPaXUKATAANKTOV>, 0l0V PEAAVOG péAaVa €L 0OV
<€k to0> Nplapidou, G ur €ig H 10 BnAukdv; ol yap kabapodv f To P €xeL, W TO
PobLd doPepd mig kat i I1Z kat BpaxL; mig &€ kal 1O vontov €xeL; Mplapuis yap
ouy n tob Nplapidou, AAN’ i Tol Mplapou.

(c) Brief statement of an alternative view (also attributed to Herodian?)
oUkoUv amno tfi¢ yevikig Tol mpwtotumnou kal To Mplapidng kal 1o MNplapic
<Kkal t6 Onoeidng> kal 10 Ononic (7 Onotwg Buyatnp).

comes a form with a long final vowel, as in ¢piAou ¢iAn. And similarly from a form
with a short final vowel (comes) one with a short final vowel, as in péAavocg
pélawva. If then the feminine patronymic is derived from Mplapidou, why does
the feminine not end in -n? (For the stem does not end in a vowel or P, as it does
in'PodLa, poPepd.) Why does it both end in -IZ and have a short vowel? And how
does its meaning come about? For Mplapig is the daughter not of MpLapidng but
of Mplapog.

Therefore Mplapidng and Mplapic are based on the genitive of the underived
word, and similarly ®©noeién¢ and ©nonic (the daughter of Theseus).

(4) Choeroboscus’ commentary on Theodosius’ Kavaveg, Grammatici Graeci IV.ii.30. 33-33.14:

(a) Why are there no first-person duals corresponding to plurals with pin the
last syllable? The solution according to Apollonius:

£oTwv o0V eimely, 6Tt S1A THV douvtagiav Empndvel évtadba to mpHTov
MPOoWTOV TWV SUIKWV douvtagiav yop AEYouEV TO U EXELV XOpaKTipa
EANVIKOV' EoTL yap kavwv tololtog mdv Suikov pripa BéAeL xapaktnpilecBal A
51 o0 T A 61d 00 O, olov TUTTTETOV TUMTOPEBOV" E0TL 8¢ Kol HANOC KaV®V
Aéywv, OTL AV pEPOG Adyou Emibexopevov aplOuolc B€lel xapaktnpileobat 86U
¢kelvou Tol oToyeiou év Tolc Suikolg, SU ol Kal TO TANBUVTIKOV XapakTnpiletal,
XWPLE TGV TPWTOTUTIWY AVTWVU LGV alTat yap Bepatikal eiot kol oUK xoucty
akohouBiav poc GANAag €otL yap AUELG TO MAnBuVTIKOV S1d Tol M, Kal Tt
Suikov vdi, kail oUK €xeL TO M. Eotwoav 6& napadeiypata tol kavovog tadta o
Alavteg €xel to N kal T T, GAAA kal 1O Alavte €xel TO NT' 10 MapLdeg XL TO A,
AAAQ Kal TO Naplde £xeL 1O A’ TAALY €V TQ YUVATKEG Kal €v T@ yuvaike €ébulayBn
10 K, Kal év TQ) peyaAoL Kal €v TQ) PeyaAw T A, AAA kal To USata kal to Udate
TO aUTO T épuAatav: §1d tolto ol Awplelg dvaloywrtepol eiot T& MANBUVTIKA
&pBpa Aéyovtec petd tod T, olov Tol motpéveg Kai tal Moboat, tva To auto
dulayBij kal év Toic mAnBuvtikolig kal £v tolg Suikoic Ta yap Sulkd Tw Kal Tad,
olov T Alavte, T MoUoa: dpoiwg 8¢ Kat &v Tolg PUCL TUNTOUEDA £0TL TO
TIANBUVTIKOV 81 ToU O, Kal TUTTOUEBOV TO SUTKOV 51 T ©. EXOopeV 00V TOUC
800 kavovag £xopev yap OtL O Suikov pijpa fj 61a tol T xapaktnpiletal fj Sta
100 O, Kol OTL TO év To1¢ MANBUVTKOTG cUUPwWVOoV PuAdTTeEcDAL BEAEL Kal €V TOTG
duikolg

It’s possible to say, then, that the first person of the duals is lacking here because
it cannot be put together (douvtatia). For we call not having a Greek shape
aouvtatia. For there is a rule of the following sort: every dual verb form likes to
be formed either by means of T or by means of 0, as in TUntetov Tuntopebov.
But there is also another rule, saying that every part of speech admitting of
numbers likes to be formed in the dual by means of the same letter by which the
plural is also formed, apart from the underived pronouns. (For those are primary
formations, and do not follow from one another. For there is the plural Auelg,
with M, and the dual vi, and it doesn’t have M.) And let the following be
examples of the rule. The form Alavteg has N and T, and Alavte too has NT. The
form Napldeg has a A, and Maptde too has a A. And again, in yuvaikeg and
yuvaike the K persists, and the A in peydlot and peydiw, and Udata and Odate
have likewise kept the same T. For this reason the Dorians apply more regularity
in saying plural articles with a T, as in Tol molpéveg and tat Moioay, so that the
same consonant is kept in both plural and dual forms. For the duals are Tw and
T4, as in Tw Alavte, Td@ Mouoa. And similarly in verbs too, tuntoueba is the plural
with a ©, and tunttopebov is the dual with a ©. So we have the two rules. For we
have the rule that dual verb forms are formed either by means of T or by means
of ©, and the rule that the consonant in the plural likes to be kept in the duals
too.
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(b) Apollonius’ solution continued—the first person dual of tuntw can’t be
tuntopev, because a rule would be violated:

gmel o0V TUTTTOEV TO TANBUVTIKOV Kal £XeL TO M £v Tfj teAeutaia SUAABH,
avaykaletal §€ tolito 10 M pudaxBijval kat év tolg Suikolg, £6€L yevéoBal
TUTITOMOV TO MPQTOV pocwriov TV duikwv tporfi tfi¢ MEN ei¢ MON, worep kal
ano told tuntopeba yivetal tuntopeBov tpormi) thi¢ OA ei¢c ©ON" AAN’ €meLdn oUK
EXELTO XAPAKTNPLOTIKOV TWV SUTKEOV pnudtwy, Aéyw 6t T f T0 ©, oUk ASUvaTO
yevéoBal TUTITooV”

(c) Apollonius’ solution continued—the form also cannot be tuntocBov or
tuntotov, because a different rule would be violated:

AAN’ o0te &€ tutooBov ) TUTToTOoV, £MEeldn 00 PUAATTEL TO €V TOlG
TANBUVTIKOTS oUWV, Aéyw 81 TO M* dvaykalopevov obv A 1o T GuAdTTEWY A
TO O YOPOKTNPLOTIKOV TV SUTKQWV pnudtwy, oK AdUvato éevexBijval SLd tol
M, dvaykalopevov §&€ GUAATTELV TO XOPOKTNPLOTIKOV TEV MANBUVTIKWV TO M, 00K
ASUVato £€evexBijval olte SLa Tol O olite SLd Tol T TGV 00V SU0 KAVOVWY
HOXOUEVWY, KOl TOO pEV Evog amattoivtog to T R TO © XapoKTNPLOTLKOV TV
SUIK®OV pnuatwy, Tol 6& £tépou amattodvrtog 1o M 16 év tol¢ mAnBuvtikolg, £€
AVAYKNG ETUALUTIAVEL TO TPWTOV TPOCWTIOV TMV SUIKQV, NVika TO Mp&ToV
nPOowrov TV MANBUVTIKGV TO M Exel év Tij TeheuTaia cuAaBf. Tadta pev O
ATtoAAwvLOC.

(d) Herodian’s different solution—to satisfy both rules the form would have to
be tOnttopOov or tumttoptov, but these forms contain inadmissible consonant
clusters:

Ta 6€ UTO 100 Hpwdlavol Aeydpeva tadta, OTL TO MTPHTOV MPOCWTIOV TWV
Suik@®V évtalBa dvaykaletal £xelv TO T f TO O, TO X0 pAKTNPLOTIKOV ToU duikol
prAuatog, kal tdo M tol mAnBuvtikol, kal Aowrov avaykaletal yevéobal
TUmtopuBov f tumtoptov, aduvatov 8& 10 M mpo <tol O f> Tol <T>' ol
ouviotartatl yap o0te katd cOUMNYPLV o0te KaTd SLdcTACLY
(e) Herodian continued—pu0 and pt are inadmissible clusters within a syllable:

KOt cUAANPLY pév, OTL TA UTIOTOOOOUEVA TWVL €V cUANAAEL €V
GVTUTPONYAOWVTOL &V SLAOTAGEL AvTUTponyodvTal, otov £v Td mp®Tog T P
Umotétaktal tod M katd cUAANYLY, £av &€ dvtutponynontot o P told M, kotd
Slaotaolv autold <avti>mponyeital, we £nt To0 €pmw’ Kal TAALY €V TG KAE0G TO A
Umotétaktal tol K katd cUAANYPLY, dvtiponyolpevov &€ 1o A tol K, <wg> v )
£Akw, katd Sldotaoty adtold avtutponyeital maAy v T Bvriokw o N
Umotétaktal tol O katd cUAANYPLY, avtumponyoUpevov &€ 1o N tol 0, wg v TR

Since, then, the plural is tUnitopev and it has a M in its last syllable, and this M
has to be preserved in the duals too, the first person dual should have become
TUTTopov, by a change of MEN to MON, just as from tunttopeba comes
tunttopebov, by a change of OA to @ON. But since this does not have the
characteristic feature of dual verb forms, | mean a T or O, it could not become
TUTITOMOV.

But nor can it become tuntooBov or tumtotov, since the consonant which
occurs in plurals is not preserved, that is to say the M. So being compelled to
preserve either the T or the © which is characteristic of dual verbs, it could not be
produced with M, and being compelled to preserve the M which is characteristic
of plurals it could not be produced either with © or with T. With the two rules
conflicting, then, and the one demanding either the T or the © which is
characteristic of dual verbs and the other demanding the M that occurs in the
plurals (of the same person), of necessity the first person of the duals is wanting
whenever the first person of the plurals has M in its last syllable. This is what
Apollonius says.

But what Herodian says is the following: that the first person of the duals is
here forced to have either T or ©, the characteristic of dual verb forms, and the
M of the plural, and hence it is compelled to become tUntouBov or TUNTOUTOV,
but it is impossible to have M <before @ or T>. For they do not stand together
either in the same syllable or across a syllable boundary.

(MO and MT do not stand together) in the same syllable, because if
consonants which follow some consonant in the same syllable precede that
consonant instead of following it, they do so across a syllable boundary. For
example, in mp®dtog the P follows the I in the same syllable, but if the P precedes
the M instead of following it, it does so across a syllable boundary, as in €pnw.
And likewise in kA€og the A follows the K in the same syllable, but when the A
precedes the K instead of following it, as in €Akw, it does so across a syllable
boundary. And likewise in Bvrjokw the N follows the © in the same syllable, but
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avBoc, katd dtaotactv altol Aviutponynoato’ ALy v T ypadw to P
Umotétaktal tol I katd cUAANYPLY, avtimponynodpevoy 6& to P tol I, we év T)
gpyov, Katd SLdotacly alTtod avtutponyioato. EMELSr oLV T M Unotétaktat
100 O kal to0 T katd cUANPLY, WG &V T TUAMa Kol ABpovig (onuaivel §€ Sfjpov
ATTIKOV), SnlovottL éav avtimponynontal <tod O f> 1ol T 10 M, ou Suvartal
auTtiv avtimponynoacBat katd cUAANPLY, AAAG KaTd SLlAcTacLy.

(f) Herodian continued—and the same clusters are inadmissible across a syllable
boundary:

QAN o0te 6& maAv katd dlaotaciy Suvatal avtumponynoactal to M touTtwy,
dnuL 6n tol T kal tol O, éneldr) ndoa cuMafr) kataArfyouoa gig TO M BEAeL
£xeLv TNV EERc cuANABNV dpxopévny and tol B f amo tol N A ano tod O f ano
00 W fj &mo o0 M, otov cUpBouAoc cUpMovVoC oUpbwWVOC cUUPNGOC
OUUUETOXOG'

(g) Conclusion of Herodian’s argument:

¢nelsn ovv olte Katd cUAANYP LY olTe KaTd StdoTacty ASVVATO TO M
npo<nynoacBar>tol O f tol T, £€ Avaykng EMALUITIAVEL TO TIPOTOV TPOCWIIOV
TV SUTKGV, AVIKA TO MPKTOV MPOCWTTOV TWV MANBUVTIKGOV TO M ExeL &V Tij
televutaig cuNaPBi.

(h) Some people attack Herodian’s argument:

TWEG 6€ PO TauTNV TV AmoAoyiav avtiléyovieg, wg 8fiBev Kak®g elmovtog
100 HpwdLavol, kéxpnvtal ToloUTw Aoyw, OTL €l BEAeL Exelv Evtalba 0 mpltov
MPOoWToV TWV SUTKWV TO M tol mAnBuvtikol kal T T f 10 O tol duikol, un
elnwyev TOMTopBov f TUTTOUTOV, tva N yévntot douvtagia, AAN
UnepBLBacwyev Td cUUPwva, Wote yevéaBal TUMToBOV fj TUMTOTHOV, Kal £XEL
Aounov A TO T A 10 O tol Suikol kal tdo M tol mAnBuvtikol, kal o0k EoTv
aouvta&ia’ eupiokopev yap kal to T kal to O mpod tod M, wg év TQ TURA Kal
ABuovic.

(i) But Choeroboscus opposes them and defends Herodian:

AUETC 6 AvTidéyopev PO alToug Kak® Aéyovtag, kol drmoAoyolpeda UTEp
o0 HpwdLavol kaA®g elpnkOTOG, OTL, OV TPOTIOV EXOUEV yVIDVAL €V TR
TIOPAKELUEVW, WC TO KElpwW yevouevov kékapka €DUAace kal TO apetaBolov kal
TO XapaKtNPLoTKOV K To0 mapakelpévou, kat Seltepov Eméxel T0 K 10
XOPAKTNPLOTIKOV cUUdwvov, TO &€ P mpitov, TolTov TOV TPOMoV Kal To
TUTMTOOHOV f| TUTITOTUOV OUK ASUVATO cuaTival, EMeLSH) TO XAPAKTNPLOTIKOV
oUUPwWVOV TV SUTKDV oUK ExeL TV deutépav TALY évtaliba, Toutéotv O T H

when the N precedes the O instead of following it, as in &vBog, it does so across a
syllable boundary. And likewise in ypddw the P follows the I in the same syllable,
but when the P precedes the I instead of following it, as in €pyov, it does so
across a syllable boundary. So then, seeing that M follows © or T in the same
syllable, as in Tpufijpa and ABuovic (which denotes an Attic deme), it’s clear that if
M follows <a @ or> T instead of preceding it, it cannot do so in the same syllable,
but across a syllable boundary.

But M cannot precede these consonants—that is to say T and ©@—instead of
following them across a syllable boundary either, because every syllable which
ends in M likes to have the next syllable beginning with B, I, ®, W, or M, as in
oupBoulog, ocbumovog, cUudwvog, U NGOG, CUUUETOXOC.

Since, then, M could not precede O or T instead of following it either in the
same syllable or across a syllable boundary, of necessity the first person of duals
is lacking when the first person of the plurals has M in its last syllable.

But some, opposing this argument on the basis that Herodian spoke badly,
use the following sort of argument: that if the first person of the duals likes to
have the M of the plural here, and the T or the © of the dual, we would not say
tumtouBov or Ttuntoutov, so that an impossible combination does not arise, but
we would transpose the consonants so that it would be tOntoBuov or TUMTOTHOV.
And then it has either the T or the O of the dual and the M of the plural, and
there is no impossible combination. For we find both T and © before M, as in
Tufipa and ABuovic.

But we argue against them, since they speak badly, and we defend Herodian,
who spoke well, as follows. In the way that we can see in the perfect, that when
kelpw becomes kékapka it preserves both the liquid consonant and the
characteristic K of the perfect, and the K which is the characteristic consonant
occupies the second place, and the P the first place, in the same way TUnto6pov
or tumtotpov could not have been formed, because the characteristic consonant
of the duals—that is to say T or ©—does not have the second place here, but the
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10 O, AAAQ TO M TO z—:xov Vv Seutépav TalLy, kal Aoutdv évopileto Tolto to M
XOPOKTNPLOTIKOV €lval To SUikol PAUATOC, Kat OUKETLTO T A TO O (ote oUV 0l
Sduvavtal UmepBLBacBiival Td cUpdwva mt TouTWV Kal yevéoBal Tumtoduov i
TUTTOTHOV, GAN €l OAwG dvaykalopeba dpurdttely T dUO, TouTEOTL KAl TO M T0l
mAnBuvtikoD kal to T f 0 © tod Suikol, dvaykaloueba puAlaal 1o
XOPOKTNPLOTIKOV ToU Suikol Seutépav énéxov Tay, T0 T A T0 O, T0 6& M
TpWTNV.
(j) So much for first person dual forms:

tooalta nepl Tol MPWTOU MPOCWTOU TGV SUIKDV Exopey eimelv.

M which holds the second place. And then this M would be thought to be
characteristic of the dual verb, and no longer the T or ©. As a result, the
consonants cannot be transposed in these forms to give tuntoBuov or
tumtotpov. But if we are entirely compelled to keep the two, that is to say both
the M of the plural and the T or © of the dual, we are compelled to keep the
characteristic of the dual—the T or ©—in the second place, and the M in the first
place.

This is as much as we have to say on the first person of the duals.

(5) Choeroboscus’ commentary on Theodosius’ Kavoveg, Grammatici Graeci IV.ii.367.31-368.10:

(a) Choeroboscus gives a rule for forming the perf. pass. subjunctive of pi-verbs
lotéov OTL Ao tol t€Belual madnTiko MaPAKELUEVOU YIVETAL TO UTTOTAKTIKOV
TpOMfj TAg mapainyouong eig Q £av teBGOuaL.

(b) Apollonius’ different view:

0 pévtol AmoA\wvLog oUy oUTw Kavovilel, aAAAG dnotv Amnod ol évepyntikol
OTtoTaKTKOD yiveoBal mpooBéael Tiig MAI, olov Ao tol £av TeBsikw £av
teBeikwpat, Kal Ano tod €av dedwkw v SedwKwaL.

(c) Herodian’s refutation:

£€Aéyxel 6€ alToOV 0 Hpwdlavog Aéywv, OtL o0 KaA®dg Sofalel o0bE yap, dnoly,
eUpntal mavieA®g év XpnoelL To €av tebeikwpal Kal €av Sedwkwpatl, dAN v
TeB®OpaL Kal éav Seddpar
(d) An additional argument for Herodian’s view:

AAAwG te <6€> £l UTfipxev AANBNC 6 Aoyog Tol AnoAAwviou, Kal Ao TV
UTIOTOKTLIKGV EvePYNTIKIOV TOD TTAPAKELLEVOU Kal UTtEPOUVTEALIKOU €yiVETO TO
OTIOTOKTIKOV TaONTIKOV TipoaBéoet T MAI, (peev £av TeTUWHAL Elvat, Kal
un dvarmAnpolcBat 1 pLetoxfig SLA TO TOV TETU AL TTABNTIKOV TOPAKELLEVOV
gxew mpod 100 M oUpdwvoV, Kat AV £V HEMVAKWHOL WPENEV Elvat Kat oUXL
£AV HepVOMOL ATO ToU PEUVN UL,

One should know that from the perfect passive (indicative) téBeuat, the
subjunctive is derived by a change of the penultimate vowel to Q: éav teB®OpaL.

But Apollonius does not make this the rule, but he says that it comes from the
active subjunctive by the addition of -MAI, as in £av teBeikwpal from €av
teBeikw, and €dav dedwkwpal from £av dedwkw.

But Herodian refutes him, saying that his opinion is not correct. For, he says,
£av teBeikwpal and éav dedwkwpal are not found in use at all, but éav teBhuot
and éav deddpual.

And anyway, if Apollonius’ argument were correct, and if the passive
subjunctive were derived from the active subjunctives of the perfect and
pluperfect by the addition of -MAI, then it ought to have been £av tetudwpalt,
and the form ought not to be supplied by means of a participle because of the
fact that the perfect passive tétuppal has a consonant before the M. And again it
should have been €av pepvrikwpal, not £av pepv@pat from pépvnual.

For a more succinct statement of this difference of opinion, see Theodosius’ Kavoveg, Grammatici Graeci IV.i.96.28-97.2: T€0gual TO OpLOTIKOV, KOl TPOTIH TG
napainyolong eig Q teBGOpat. ArtoMwviog 8¢ £av TeBeikwpat dnotv alTod ivat dpaptipwe, K¢ dpnov Hpwdlavdc. ‘TéBepad is the indicative, and by a change of the
penultimate to Q (we arrive at the subjunctive) teB®Guat. But Apollonius says the form is (éav) teBeikwpalt—(but) without authority, as Herodian says.’
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(6) Choeroboscus’ commentary on Theodosius’ Kavaveg, Grammatici Graeci 1V.ii.168.10-169.30:

(a) Herodian argues against Apollonius that there are no second future active
indicatives in use:

lotéov 6¢€ OTLAgyel 0 HpwdLavog, we oUSEMOTE eUpiloKeTAL SEUTEPOG HEA WY
£VEPYNTLKOG OPLOTLKOC <&V XpNoeL ag> yap, dnolv, mapéBeto XpnoeLg o
AmnoA\wvloc, i memMAacpéval aut® giotv, wg T duyd Spapud Tun®, ol Seutepol
yap HEAOVTEG <0USElG yap Thv ahal®dv>, dnoiv, TouToLg EXprioato’ fj EVECTROITEC
glowv avtl peAAoviwy, we o ‘koupnv & ol yapéw Ayapéuvovog Atpeidao’
(11.9.388), <kal w¢ O ‘tavta yap fdn toL teAéw’ (/.23.20; 11.23.180)> évtailba yap
ol éveotTEG <elolv Avtl peAAOvVTIwY, Avtl yap tol yapnow> Kal TEAEcw, WOTEP Kal
€V IO ‘éyw 6£ K’ ayw Bplonida kaAumapnov’ (/.1.184) éveotwg €0ty Avtl
puEAovTog Tol Géw:

(b) Herodian’s argument continued:

BAWG Te 8¢ 0VSEMOTE PEAWY OPLOTIKOC SLAAVETAL TIRIC OVV TO Yapéw Kal
teMéw, €l ye péNOVTEC UTtipxov, £v StaAloel mapaAapBdvovtat; dpo oV Evighetal
elowv éveoTwTwy TO YOHEW KOl TEAEW' TPOOKELTAL ‘OpLOTIKOC, EMELSH TO eUdpavelv
dnapépdatov yivetal kotd StaAuoLy eDdpaveely, otov ‘eUdpavésty GAOXOV Te
diAnv kal vAmiov viov’ (11.5.688). onueloltal 6& TO €kxe® SeUTEPOU PEAAOVTOG,
ooV Kot TO ‘KatakALe! Top’ EUTOASL v XpUGOYEVEL, OLoV ‘el 1A TIC AUTAV
KatokALET " (Eupolis, Xpuoolv yévog fr. 310 K.-A.)* yéyove 6€ 10 katakALel toltov
TOV TPOTOV' £0TL KAElWw, TOUTOU O SeUTEPOC AOPLOTOG EKALoV &L ToU I, Tiig
napaAnyouong cuctaleiong, womnep Asinw EAutov, nelBw £miBov, kat Aoumov
£KETBeV KATAKALD 0 deUTEPOC LEAAWVY KOl KATOKALET TO TpiTOV MPOCWITOV.

(c) Some people think kpep® and dyop® are futures:

ToUTWV oUTWG €XOVTWV LoTéov, OTLTO KPeU® Kal Ayop® TIVEG Aéyouot SeuTEpou
HéNovTog elvat
(d) Choeroboscus (in his own voice?) argues against these supposed examples:

gotL 8¢ einely, 6T TadTa o0 Suvavtal oUte SeUTEPOU MEANOVTOC €ival, GAN olte
TIPWTOU" Kol SEUTEPOL PEV yap HENOVTOC 0L SUvavtat elval, EMELSH O SeVTEPOC
HEAAWV TO delTepov Kal Tpitov mpoowmov S1a TG El SipBoyyou Exel Ekpepoevoy,
0lOV TUTIR) TUTEETG TUTEET, VUYG VUYETS Vuyel Tadta 8¢ S1d Tiig Al SipOdyyou
£X0oUOL TO <SeUTEPOV Kal> TPLTOV PACWIOV EKDEPOEVOV, OLOV KPEUE) KPEUAC
KPEUA, Ayop® Ayopds dyopd: Tpwtou 8& péAAovtog ol SUvavtal elval, EMeLdn
MPQTOV PEV O MPWTOg LEAWV TO SelTtepov Kal Tpitov mpocwrov €xel Sia Th¢ El
51hBOYYoL Ekdpepdpevoy, otov TUPw TUPELS TOPEL, ldpavi evPpavels eDdpavel,
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One should know that Herodian says that a second future active indicative is never
found <in use.> For the uses <which> Apollonius provided have either been made
up by him, like puy® papd tunw—for these are not second futures, for <nobody
among the ancients>, he says, used these—or they are presents for futures, as in
koUpnv &’ oU yopéw Ayapépvovog Atpeidao <and mavta yap fén tol teAéw>. For
here the presents <stand for futures, for the forms are used instead of yaunow>
and teAéow, just as in éyw 6£ kK’ Ayw Bplonida kaAAmapnov there is a present
instead of the future a€w.

And besides, a future indicative is never resolved (i.e. uncontracted). How then
are yapéw and teAéw used with resolution, if they were futures? So yauéw and
teléw are the unmodified forms of presents. The word ‘indicative’ has been
included because the infinitive ebdpavelv becomes e0dpavéely with resolution, as
in ebdpavéewv GAoxov te GiAnv kal vArmov uidv. And the form €kye® belonging to
the second future is noted as an exception, as also katakALel in Eupolis” Xpuoolv
VEVOg, as in gl un g avtnV KatakALel. And katakALel has come about in the
following way: there is kAeiw, and the second aorist of this form is €kAlov, with an
iota, the penultimate (syllable) having been shortened, as in Aetnw €Aunov, melBw
£€mBov, and from there katakAL® is the second future and katakALel its third
person.

These things being so, one should know that some say that kpeu® and ayop®
are second futures.

But it’s possible to say that these cannot belong to the second future, nor to the
first. And they cannot belong to the second future because the second future has
its second and third person produced with the diphthong El, as in Tun® tunelg
TUTIET, VUY® VUYETC vuyel. But these forms (i.e. kpep® and dyop®) have their
<second and> third person produced with the diphthong Al, as in Kpeu® Kpepdg
Kpeud, dyop® ayopdc dyopd. And they cannot belong to the first future, since first
of all the first future has its second and third person produced with the diphthong
El, as in TV w TOYEeLg TUPEL eUdpavd eudpavels eldpavel—but these forms (i.e.



tadta 8¢, we eipntat, éxouot to Ssltepov Kal tpitov mpoowrnov Sud Thg Al
51hBOYYoL Ekdpepdpevov: SelTepov 8€ PwTou PEANOVTOC <0l SUvavtat elvat>,
£neldn ovbEnote ENattovag cUAAABAC £xel 6 LEA WV ToD 1dilou éveotd®tog, AN
<fi> icoouAaBel aUTH, otov TUTTW TUPW, Aéyw Aé€w, fi epLttocUANABET, olov
TIoL® TOLoW, VoM VORow" £V 00V TO Ayop® Kal Kpep® SGpev péAovTaG lval,
eUplokovtal éAattovag cuANaBAG ExovTeg TOD EveaTTOC, O yap Eveotwg dyopalw
kal kpepalw éotlv, 6mep aduvatov.
(e) Alternative analysis of kpep® and dyop® (again in Choeroboscus own voice?):
AAAQ Aéyopev, OTL €oTiv Ayopdlw Kal Kpepdlw' <ToUTWV 0> PEANWVY KPEUAOoW
Kal dyopdow, Kal katd amoBoArv Tol X kpeudw Kol Ayopdw, Kal Katd KpdoLv TGV
dwvnévtwv <toutéotL tod A kal Q> gic Q yivetal kpep® kal dyopd, wonep Bodw
Bo®, mepaw mep® Kal EMeLdn €xouot TL mote U aprolov <T@ LEAAOVTL, TOUTECTLY>
gvbelav ouAafiigc—tolto 6& ol apuolel TG LEAAOVTL, O yap LEAAWY, WG €lpnTal,
oV BéAeL Exelv ENdtrovag cUAABAC ToD 18iou éveoT®TOoC, olov TUTTTW TUYPW, TTOLR
oL oW —ToUTOoU XApLV HETHABoV €i¢ Eéveotta oUtw yap Kol v T dpé<okw Kal
HLEBUOKW> yéyovev: E0TL Yap Ap® ApEow Kal peBuw peblow, Kal mpooeABovTog
100 K Katd TOV pENovTa aveédpapov <talta ei¢> éveot®ta, Emeldr) €6€€avto Tl
Tote U apuolov @ pEANovTL, dnut 61 1o K, o yap K oUK £0TL XOPAKTNPLOTIKOV
<Baputovou> péAovtog pookeltal ‘Baputovou péAovroc Sl Tov <€mAakov>
TAaK® deltepov HEAovVTA.

(7) Choeroboscus’ commentary on Theodosius’ Kavdveg, 1V.ii.52.10-54.11:

(a) Why do prefixed verbs have the augment after the preverb? An account
attributed to Apollonius:

TPABEDLC yap EoTv G 0VBEV BEAeL tpoTiBecBal 51 ToUTo Kol WS dv TIg elmot
gowBev yivetal 1 KAIOLG, 0l0V KATOypAdw KATEYPAPOV, AVOYLVWOKW
AveyilvwoKov, TepLmat® epleNATouy, KatopB® katwpBouv. 1O 6& dAnBéatepov
KQTA XPOVOV yiveTal 1) cUVOESLIS 0lov WG &Ml Tod Xelpoypads éxelpoypddouy kal
w¢ éni ol kaAapoypad® ékalapoypdadouv Katl £t TV GAAWY CUVBETWY TV N
OVTWV Ao MPoBEcew KALOLG EYEVETO OUVBETEWG, ETA YAp TNV OUVOECLY
£VEVETO 1) KALOLC, TOUTEDTL TPMTOV GUVETEBNOAV Kol oUTWC ékAiBnoav, olov
d\ocodp® €pNocddOUY, XELPOKOTIR EXELPOKOTIOUV® £TTL LEVTOL TV ATO
POBECEWC ApXOUEVWY TO €vavTiov yiveTal, cUvBeoLg yap yivetal kKAloswg,
TOUTEOTL KATA XpOVoV yiveTal i cUVBEeaLg, Kal wg v Tig elrol mp&tov KAlvovtal

Kpeu® and ayop®), as has been said, have their second and third person produced
with the diphthong Al. And secondly <they cannot> belong to the second future
because the future never has fewer syllables than its own present: it either has the
same number of syllables as it, as in TOTTTwW TOP W, Aéyw Aéw, or it has a larger
number, as in TOL® TOLHoW, vo® vonow. If, then, we grant that dyop® and kpeu®
are futures, they are found to have fewer syllables than the present (for the
presents are ayopalw and kpepdlw), which is impossible.

But we say that (first of all) there is dyopalw kat kpepalw. <Of these the>
future is kpepdow and dyopdow, and by loss of the 3 kpepdw and dyopdw, and by
contraction of the vowels, <that is to say of the A and Q,> into Q arise kpeu® and
ayop®, just as Boaw (gives) Bo® and mepaw (gives) mep®. And since they have
something not compatible <with the future, that is to say> the lack of a syllable—
and this is not compatible with the future (for the future, as has been said, does
not like to have fewer syllables than its own present, as in TUTTTw VYW, TOLRD
noltnow)—for this reason they have gone over into the present. For this is what has
happened also in dpé<okw and pebBlokw>. For there is dp® dpéow and peblw
pnebuow, and with the K being added in the future these went over to the present,
since they had received something not compatible with the future, | mean the K.
For the K is not characteristic of a recessive future. And the words ‘recessive future’
have been included because of <€mAakov> and its second future mAakG@.

For a preposition is something before which nothing likes to be placed. For this
reason the inflection takes place on the inside, as one might say, as in
Kataypddw Katéypadov, avayLlvwokw Aveyivwokov, Tepatd MePLEMATOUY,
katopB® katwpBouv. But the most accurate account is that the composition
happens only in due course. For example, in the case of xelpoypad®
£xelpoypadouv and kalapoypad® ékalapoypddouv and the other compounds
that are not formed from a preposition, the compounded form got inflected, for
the inflection took place after the composition, that is to say first the forms were
compounded and in that form they were inflected, as in pthocodp®
£pLAooddouv, xelpokon® £xelpokomouy. But in the case of those that begin with
a preposition the opposite happens, for composition of an inflected form takes
place, that is to say the composition takes place in due course, and they are first
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kal oUTw ouvtiBevTal, otov armd Tod ypddw ViveTat kataypddw, Kol arod Tod
gypadov kateypadov, kal anod tol yéypada yivetal kataysypada, Kal anod tod
£yeypadelv yivetal kateyeypadely, kal ano 1ol Eypaa 10 katéypada, kal ano
100 ypayw t0 KataypdPpw' tolto 6¢ yivetay, va un éEapaupwbij n npdbeoig
£EwOEV Tl mote dexopévn' THG yap MpoBeoewe, we Enabopey, o6&V €B€AeL
npotiBeobal.

(b) Brief digression — Apollonius promises to address a related question
elsewhere:

dlati 6£ v npobéoewv mac®v TV gig dwvijev Anyouo®v EkBALBoUEVWY,
0lOV KATOYPAdwW KATEYPAPOV, AVEPXOHAL AVNPXOUNY, SEABwW SLiiABov, fi pd Kal
n Tept oUK ékOAIBOVTAL, OLOV TIPOEPXOMOL TIEPLEPXOHAL, €V TG) TIEPL TIPOBECEWC, £l
Be® didov, pabnoodueba.

(c) So much for Apollonius’ account:
tadta pev 6 AMoAAWVLOG dNnoLy.
(d) Herodian’s refutation:

Tpo¢ toltov &€ avtiléyel 6 HpwdLavog Aéywv, OTL TPOTOV HEV OUK ECTLY I
Katd mpoBeatc év TR kataypddw, AANA Hépog €Tl TOD pripatog, i katl ano
npoBéoewc €yEVeTo ) oUVOEDLC. WoTtep yAp €V TG eVYEVIC OUK £O0TLTO €U
£nippnpa, AAAA LEPOG EyEVETO TOU OVOUOTOC, €1 KAl GO EMLPPUATOC £YEVETO )
ouvBeoLg, oUTtw Kal v T® kataypddw ov Aéyopev, OTL TPOBETiG £0TLV f KATA,
AAAQ pEpog ToD pripatog, el kal Amo mpoBEcewg €yEVETO N oUVOEDLS AAAWG TE
1600 1O cuvriyopog arnod rpoBéocswg GpxeTal, Kol OpwE Aéyetat eUOUVAYOPOC, KOl
TEAL cUpBoUAOC EUOUUBOUAOC, EMAVOIKTNG BUPEMAVOIKTNG' OUK WPEAOV OOV
0U8¢ Talta &no MpoBécewd Apxdpeva 5£€aoBat EEwbEv Ti mote. Tadta pév ov
0 Hpwblavac.

(e) Choeroboscus’ defence of Apollonius:

AUETS 6€ drmoAloyoupeBa UMép Tol AnoAAwviou Aéyovteg, OTL GAAO AEELG Kal
AGAAo cUANOBNR. €av PEV yap AEELG TPOTEADN LETA <THV> oUVBEeGDLY, GUAATTETOL TO
i6lwpa <t0> dpxIkov, €av 8& cuAapn), oUKETL Kal SfjAov €k Th¢ daoelag wormep
yap Aéyopev, OTL 1) Saoela diAapxdc EoTiy, olov pwpn pritwp eUpov HPRPLS VAN,
Kol OpwG év talc ouvBéoeatv duAdttetal i Saoela, we €v T KabioTapal
dopwpalog ploopntwp £delpov, neldn A€ mpooiiABe, kal £puidyOn to
16lwpa TO ApXIKOV, £av 6 Poo€AOn cuAafr), Tote é€apaupoltal Kuplwg N
&pxouoa Tig AEEEWC, OLOV EOTLV OPG) OPEC TOUTOU VIVETAL O TTAPATATIKOC (IPWV

inflected (so to speak) and in that form they are compounded. For example, from
vypadw comes kataypddw, and from Eypadov comes katéypadov, and from
véypadoa comes katayéypada, and from éyeypadelv comes kateyeypdodely, and
from Eypaa comes katéypaa, and from ypapw comes kataypaPpw. And this
happens so that the preposition does not lose its natural character by receiving
something on the outside. For nothing likes to be placed before a preposition, as
we have learnt.

And if God is willing, we will learn in ‘On the preposition ept’ why it is that
whereas all prepositions that end with a vowel undergo elision, as in kataypddw
katéypadov, dvépxopal avnpxounv, S1EABw SLiiABov, the prepositions npo and
niept do not undergo elision, as in TPOEpPYOLLOL TIEPLEPXOMAL.

These things, then, are what Apollonius says.

But Herodian argues against him, saying that to begin with kata isn’t a
preposition in katéypadov but a part of the verb, even if the composition took
the preposition as its starting point. For just as in e0yevn¢ the €0- isn’t an adverb
but has become part of the nominal (i.e. noun/adjective), even though the
composition took the adverb as its starting point, so too in kataypadw we don’t
say that the kata- is a preposition but a part of the verb, even though the
composition took the preposition as its starting point. And anyway, notice how
ouvnyopog begins with a preposition, and nevertheless ebcuvyopog is said, and
likewise ocUpBouAoG eboUPBOUAOG, Emavoiktng Bupemavoiktng. These words too
should not have received anything on the outside (i.e. if Apollonius’ argument
were right), seeing as they begin with prepositions. This then is what Herodian
says.

But we speak in defence of Apollonius, saying that a word is one thing and a
syllable is another. For if a word is added on composition, the feature associated
with the beginning of a word is kept, but if a syllable is added this no longer
happens. And this is clear from the rough breathing. For just as we said that the
rough breathing likes to go at the beginning, as in pwpn pritwp e0pov URPLS VAN,
and yet in compounds the rough breathing is preserved, as in kaBiotapot
dopwpalog ploopntwp £dpelpov, because a word has been added, and the
feature associated with the beginning of a word is kept. But if a syllable is added
then the initial syllable of the word properly loses its natural character, as in 6p®
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Sdacuvopevng Ti¢ mpwtng cUAAABFC, Kal €meldn £mAedvaoe To E kal éyéveto
£WPWV, Gua t@ mMheovacu®d mapedBapn kai n dpxovoa’ cuAAapr) yap npooiABe,
Kal 8Ld tolto avédpapev N daocsla and thig deutépag cuANABRC EmL THV MpwTNV'
£XoUeV yap OtL dihapxog €otiv N daoela kal aALy €mi tol €udg 00¢ O¢ TO 06
Sdaouvetal otav 6€ MAeovaon TO E kal yévnrtatl €0¢, Avatpexel i Saoela €ig tnv
npwtnv cuMaBnv, wg 6fiBev dLd tol mAeovaopol Thig cuAABRG
£€apaupwBeiong Thg dpxouong év & Tolc cuvBEToLg oUSEV TOloUTOV, WG
glpntay, yivetay, dAa puAattetal i Saoelia, Gte &n tfig anAfic Aé€swg £TL
£udatvouoncg tyv iblav apyovoav

(f) Choeroboscus’ defence of Apollonius — continued:

ToUTOV TOV TPOTIOV Kal al mpoBEaelg, £av HEV MPOOAABwWOLV AAANV AEELV PHETA
TV oUVOEGSLY, PUAATTOUGL TNV I8lav dpxLKAV GUAAABRY, OLOV GUVFYOPOC
ebouvnyopoc, oUPBoUAoG eboUPBOUAOG, £av € TPpooAdBwat GUAAaBNY,
g€apavpoliol TV dlav apxiknv cuAaBnv. kal TouTou XapLv TO Kataypadpw ol
Sduvartal yevéaoBal ékataypadov, Eneldn ai culapali, we eipntal,
TPOGEPXOMEVAL TS AéEETLY 0U GUAATTOUGLY AUTHV TO ISiwpa TO ApXKOV" £V 00V
() oUVNYOopPOG EUOUVAYOPOG Kal £mavolktng Bupenavolkng, i Kal mpocEpyovtal
Tl poBéoeaty, GAN avtaL oUK eiot cuMaBal GAAA Aé€eLc, hote duAdTTECOOL
TA Wuwpata thg mpoBécewg flyouv v dpxiknv é€ouaiav’ €v 6& Td Kataypadpw
£av yévntal ékataypodov culaBiic mpooepxoUévng Kal o0 AéEew,
g€apaupoltal TeAelw  To iblwpa TH¢ mpoBéoewe Behovonc detl <slvar> KAt
apxrv: OUKETL yap PUAATTETAL i} ApXousa GAN é€apaupoltal. ATpenTog olv
npeltat N npdbeotg, xwplig el un év mheovaop® €in, wg éni tol kaB&lopatl
£KaBelopnv, Kabeldw £kABeL SOV, KAUUUW EKAUUUOV, EVENW Avenov: évialba
yap o06EV mALov onpaivouaty ai mpoBEoelg” T yap Elopal kal [T0] kaBélopal 1O
aUTO onuaivouot, Kal td eU6w Kal kaBevdw, Kal TO HUW Kol KOUUUwW &rd Tol
KaTapuUw Katd cuykomny tol a kal tpomnv tol T i M, kal T &nw <kal événw>
£€wBev &€ émonoavto TV KALowv 10 €kaBelopunv ékabeudov EKAPUUOV HVETIOV,
w¢ oxedov amA®v ouo®v TWV AéEewv, WOTEP TUTITW ETUTITOV.

0pdc. The imperfect of this becomes Gpwv, with the first syllable aspirated, and
when an extra E is added and it becomes £éwpwv, the initial syllable is corrupted
along with the addition. For a syllable as been added, and for this reason the
rough breathing has gone up from the second syllable to the first. For we have
the principle that the rough breathing likes to go at the beginning. And likewise in
the case of €udg, 00¢, 0¢, the form 6¢ has a rough breathing. But when an extra E
is added and it becomes €6¢, the rough breathing goes up onto the first syllable,
with the initial syllable evidently losing its natural character because of the
addition. But in compounds nothing of the sort happens, as has been said, but
the rough breathing is preserved, with the simplex word still displaying its own
initial syllable.

In this way prepositions too, if they take to themselves another word on
composition, they preserve their own initial syllable, as in cuvryopog
ebouvnyopoc, oupBouAog eboUpBoulog, but if they take to themselves a
syllable, they obscure their own first syllable. And for this reason kataypadw
cannot become £kataypadov, since syllables, as has been said, when added to
words do not preserve their word-initial feature. So in cuvriyopog elouvryopog
and énavoiktng Bupemnavoiktng, even if they (the €- and Bup-) come together
with prepositions, these are not syllables but words, so that the characteristic
features of prepositions are preserved, that is to say their capacity to go at the
beginning. But in kataypddw, if it becomes ékataypadov, with a syllable and not
a word being added, the characteristic feature of a preposition—which likes
always to be at the beginning—is completely obscured. For the initial syllable is
no longer preserved but obscured. So the preposition is preserved unchanged,
unless it is an extra element, as in kaB&lopat €kaBelopnv, kKaBeLOwW €kabeudov,
KOUUOW EKappuov, Evenw fvemov. For in these instances the prepositions do not
add anything to the meaning. For €lopat and kaB&Zlopal mean the same thing,
and likewise e06w and kaBeVUdw, and pOw and kappvw (which comes from
katapUw by loss of the A and a change of T into M), and £€nw <and évvenw>. And
£€kaBelounv ékaBeudov and £kappuov fivemov have made their inflection on the
outside, since these words are practically simplicia, like TUMTW £TUTTTOV.

Other passages with something of the same flavour include Choeroboscus’ commentary on Theodosius’ Kavoveg, Grammatici Graeci IV.ii.237.21-238.15 (on whether
perfect imperatives end in -8 or -€); Epimerismi Homerici, ordine alphabetico traditi . 6 Dyck and Etymologicum Magnum 472.10-25 (on whether 1€ov is an aorist or an

imperfect).
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